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PART-A (& -92d)
Q. No. 1 (a~f) carries 1 mark each 1x6= 6
Q. No. 2 -7 carries 2 marks each 2x6 =12
Q. No. 8 -12 carries 4 marks each 4x5 = 20
Q. No. 13 & 14 carries 6 marks each o 6x2 =12
Total = 50
PART-B (¥ -9)
Q. No. 15 (a - f) carries 1 mark each . 1x6= 6
Q. No. 16 - 21 carries 2 marks each 2x6 = 12
Q. No. 22 =26 carries 4 marks each 4x5 = 20
Q. No. 27 & 28 carries 6 marks each 6x2 =12
Total = 50

Total (PART A & B): 50+ 50 =100
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PART-A /-9
What does a Production Possibility Curve indicate ? 1

Tesva ABRY @R & ot o

If an increase in the price of good X increases the demand for good
Y, then how the two goods are related ? 1

Iz X @R W IaE Y R iRn 3R $E oo 9 g0l [«
TfFer

TotaIVVariable Cost (TVC) will be , when total product is

Zero. (Fill in the blank)
% : 1

5 Tenv el (2RI SRS, 3 AR -c 1

(Tt 212 9 )

A firm earns normal p.rofit when'— 1

(i) AR>AC

(i) AR=AC |

(iif) AR < AC

(iv) MR =MC (Choose the correct answer)

Q¥ efod Fels we W T @fon —

() AR>AC

(i) AR= f-\C

(iii) AR < AC

(i) MR =MC | (o7 Towh 9% Shea)
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(e)

2. Mention fwo reasons that give rise to economic problems.

In a centrally planned economy, which of the following takes all

economic decisions ? 1
(i) Central Bank

(ii) Market

(iti) Government

(iv) Both Governmént and Central Bank

@@Wﬂ%@%—wﬁﬁﬂwwwmﬁwﬁﬂ—m
TTHIH 2T FE?

() &Y (A
(i) TSR
(iii) HIPR |

(iv) @HT @S O 53T T

What are the shapes of AR and MR curve for a firm under non-

competitive market structure ? 1

wof afSraifior ITRT wsfe AfSoRT W@ 4T oE WE 2AfGT o
(R PTS (FCAg1 ? |

' weftafes AT 881 (FRR 7hr FiRd GrEd 4 |
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What is a budget line ? Why does it slope downward ? 1+1=2

ACEH @ B2 @R @R ol o Fwsn e

If a unit tax is imposed, how does it impact the short-run supply curve of

a firm ? Show with the help of diagram. 2

Mz GFF T SEE T W, (OrF AV QI THFIEN Q@R (@A
@R oifde Far bag simwe sl

What is ‘break-even point’ of a firm ? At which point of the AC curve, a

firm under perfect competition breaks-even ? 1+1=2

a%mawwm-@ﬂﬁn;ﬁswffeﬁaﬁ—mw Af ST QU T
m@m@sﬁrﬁﬁr@ﬂa—i—@ﬁw AN I(E2

What does .price elasticity of supply mean ? Briefly explain. 2
s ve FHfegeeet [ gz @t
What is a monopolistic competitive market ? _ -

iR TR a1 aeniued afafion asm e

Discuss four features of indifference curve. 4

FReor® @A 5IRD REER) SitEna 9|
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9. Define and draw average cost and average variable cost curve. Why these

two curves can’t touch each other ? 3+1=4

NG T I MG ARTOTIA T M 572t S 908 @3 (@A T W I+ |
a3 YIIGE @R T o7 ~pf IR @RE?

OR/ &2/t

The Total Cost (TC) schedule of a production unit is given below. Find out
TFC, TVC, AC and MC. 4

<51 TesAml (9il53 P T (TC) Sg5! oo fal tzez !l I5 %1 47 (TFC), T3
ARTEPN A7 (TVC), oI I (AC) =% e I8 (MC) Sppp! Azt 7=

Quantity Produced TC
TeAmT ARSI
0 ‘ 10
i 40
2 60
3 | 80
4 95
5 110
6 130
7 160
30T ECON [5] Contd.




10. Mention four differences between perfect competition and monopoly.

o fSrRiToR TR W GFEhA ITRT 5IEGT ALy T

11. The demand and supply functions of a commodity is given by
‘Qq4=100-2P

Q,=2P - 60
Find :
(i)  Equilibrium price -
(i) Equilibrium quantity. 34+1=4

Waﬁtm mﬁmmﬂ&mwﬁm.M|
Qq=100-2P

*

Q, = 2P - 60
() RPN T oI

(i) SN SerRT AR S 4|
OR / 9%t

Explain with the help of a diagram, how shifting of the supply curve of a

commodity affects its equilibrium price and output. S 4

‘eﬁ]«ﬂﬁa QA (RUR FAHI GAER S 71 Wi SeAqd ARNGT @EmE
Foife I oo FTe A T4 |
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12. What do you understand by returns to a scale ? Write the meaning of

constant, increasing and decreasing returns to scale." 1+3=4

TR fow IHTE & 3o 2 FRR, TFRETA SE TP TR oformw o
IGR |
OR/ 523l

State the reasons behind the working of the law of diminishing marginal

product. 4

T Aifes S Ride ez faqt

13. State and explain the law of demand with the help of an imaginary

schedule and diagram. | 6
SifEw RIRCG! Bl wiw @3 Sl siftn SeEp! wis Sy Baw weme 3a
(RN 1A

OR / &24f

Calculate price elasticity of demand by expenditure method :

() If an increase in price from Rs. 10 to Rs. 12 per unit lowers quantity

demanded from 25 units to 20 units.

(ii) If an increase in price per unit from Rs. 8 to Rs. 10 lowers quantity

demanded from 20 to 16 units.

(iii) If a decrease in price from Rs. 12 to Rs. 8 per unit increases quantity

demanded from 20 to 28 units. 2+2+2=6

30T ECON ' [7] Contd.




14.

[T AFfe] TRAce vifTnE Rfogems! s 1 3

0) aﬁawmﬂloﬁnawuwﬁag%ﬂavﬁmﬁﬁmzmw
2 20 G 2 2H |

(ii) aﬁmmw&smwmﬁaﬁaﬁzmmﬁmwﬁmmm
29 16 IR A AF |

(}ii) 4l 9T ¥IW 19 12 TR 2191 8 THicsT T T'CA HIRMI 20-F #[1 28 G
I = | |

Define :

(i) Total Product (TP)

(i) Average Product (AP)

(iii) Marginal Product (MP)

Explain the relation between AP and MP with the help of suitable
diagram. ' | 1+1+1+3=6

Rl ferat ¢

() O TeAMH

(i) TG BeAMA
(iii) 2T Tesima |

NG BeoAma W% AT BT FToF Toge Hag TS JA 70|
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(ii)

(iii)
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OR/ @t

What is production function ? 1

TeAMH Toq I (DI ?

What do you mean by fixed factor and variable factor of production ?

Give examples. 2

TeomT 23 BoiMie oF SRSl Boime et & o e S
IGRIR

The production function of a firm is given by Q = 2L2K2,

Find out the maximum possible output that the firm can produce
with 5 units of L and 2 units of K. What is the maximum possible

output the firm can produce with zero (0) units of L and 10 units

of K? ' 3

7 SR QAN AfSPIR] Beodma Faq Q = 2L2K2|

5 GFD L 9% 2 G35 K- AYTS ASHRIEA A% [F0 (516 71y SeeAmA
<37 +iffq? N (0) 9T L % 10 95 K3 TRITS AfSHAAE TeoAma
TR o= HIH SeoAma [ 332
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PART-B / 4-Sig¢t

15. (a) What is the relation between MPC and MPS ? ' 1 .

MPC W% MPS-3 SIe| 7=~ 41|

(b) What is investment ? | 1
ffae o2
(c) What do you mean by ‘velocity of circulation” of money ? 1

TR ‘e s IfE B g e
(d) Who is known as the ‘lender of last resort’ ? . 1

‘O /S R ewTol’ I IR ISR T2

() What is government budget ? ) 1

| FRFIR AT (e
| |
(/) In which year GST came into effect in India ? 1

SITeINS (FH 59 #F GST IR T (2Z2
16. Define intermediate good. How intermediate goods are different from
capital goods ? 14+1=2
TS| TR TR B | NRS] TR R el TR o/l o

30T ECON _ [10]



17.

18.

19.

20.

21.

What is investment multiplier ? If Rs. 200 crore increase in investment
increases income by Rs. 800 crore, then what will be the value of investment

multiplier ? - 1+1=2

RSt s 2 afwcz 200 @I S RS 3 wm 800 @it 5t 3fE <=
cocs Rt e = [T )

Write the differences between ex-anfe investment and ex-post investment.
’ 2

arejifre R wiF s (aFps) RfRsr ity

Mention two points of superiority of Selective Credit Measures over

Quantitative Credit Control Measures. ' 2

Affere et fagd smfoeis vy ad Fage “&fet 7o e
TEd 4|

Write two differences between revenue expenditure and capital expenditure.
2

JoE T O AL JTR G370 A1

What do you mean by devaluation of currency ? How does it affect the

import of a country ? 1+1=2

TR SRR A B qEle T SEEEe o @R SR s
@V eifis R

30T ECON [11] ‘ Con'td.




22. Define GDP. Can GDP be used as an index of welfare of a country ? Justify
your answer. ‘ 1+3=4

GDP-T k@ &3l | GDP-F (¥ 3= I 75 A JI2F IR AR 2
COINIT T&d ACH Y& HRCGHRT |

23. How does the central bank use its quantitative credit control measures to
control inflationary situation of an economy ? 4

G SIS JTErTIfeT SR FaER @ @@ QEE AfRSidste wd Fages
WWWW?

OR / &2t

Write a note on ‘demonetisation’. - 4

‘Rmisat’s Raw @t @Rt s

24. What is a Deficit Buciget ? Why a deficit budget is considered beneficial
than a surplus budget for a developing economy ? _ -~ 1+3=4

Qift et G 2 Saaie WIS’ oFae IR AcEoes Qi et &7 Sosi
o1t Rraeal <1t zwe

25. Mention four differences between Direct taxes and Indirect taxes. 4

STF T4 GF AET 9 NS 5161 m@f?—r?m

26. (i) What is balance of payment ? . ' 1
AN T 2
(i) What are the fwo main components of balance of payment ? 1

ARTAR FATOR & Soime 7o & 62

(iii) Write two differences between balance of payment and balance of
trade. 2

AfReNa el wiE JlfdeIR TSR 7O sfrefeey vl

30T ECON [12]



OR / 52t

Write briefly about :

(i) Open Eéonomy

(i) Exchange Rate.
oS foiat 8

() & WIS
(i) RiaTa =z

2+2=4

27. Explain the procedures of calculating National Income by value-added

method.

TE TR AASR SO’ S 191 9 P! i = |

OR / @24t

From the data given below calculate :

(i) GDP at factor cost

(if) GNP at market price

(iii) NNP at factor cost

(a)
()
(c)
(d)
(e)

(g)
(h)
(1)

30T ECON

Consumption Expenditure
Investment Expenditure
Government Expenditure
Export

Import

Net factor income from abroad
Indiréct taxes

Subsidies

Depreciation

[13]

Rs. 2,000 crores
Rs. 1,20_0 crores

Rs.
Rs.
Rs.
Rs.
Rs.
Rs.
Rs.

450 crores
80 crores
95 crores
60 crores
90 crores
80 crores

30 crores

6
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o] | A9l 8

() TR TS J5/FH Tl AR (GDPre)

(i) IGR TS Yo/FF GO BeAMA (GNPyp)

(i) Tetmm TS FEE /e TSR SeeiA (NNPp) 51T 31 |

()

)

28. Explain the process of equilibrium income determination of an economy

with the use of aggregate demand and aggregate supply curves.

TS IS S BIfEw @A TRTS 99 WL Sy Wi fRdReR efEis

Toreist [T

A a5
SR T
S|
SrsmiE

RO i’ Rt S wig

AT 9

@2

CFY

PTG 11 |
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OR / G231

What is aggregate demand ? Discuss the componehts of aggregate demand.
1+5=6

Aafas sifgnl e AT viRwR SAMETTR STt 310
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